N_1(145)
[493.1538 , 510.0000]

%X[1,(9, 10)]1<=0.0 [1,(9, 10)]>=1.0

N_2 (15 5s) N_3 (16 s)

[498.5000 , 510.0000] [500.3667 , 504.0000]

x[1,(10, 12)1<=0.0 [x[1,(10, 12)]>=1.0 x[1, (1, 4)1<=0.0 N\Xx[1, (1,

N_4(15s) N_5(16s) N_ 12 (16s)
[502.0500 , 510.0000] [501.2000 , 509.0000] [500.7000 , 504.0000]

N 13 (17 s)
PRUNED

X[1,(5, 10)]<=0.0 k[1, (5, 10)]>=1.0 x[1,(5, 12)]1>=1.0\x[1, (5, 12)]1<=0.0 x[1,(5, 15)]<=0.0 \X[1,(5,

N_6(155s)
PRUNED

N_7(15s) N_10 (16s)

PRUNED

N_11(16s)
PRUNED

N_14 (16s)
[502.3000 , 504.0000]

[507.8000 , 510.0000]

x[1,(4, 7)1<=0.0\x[1,(4, 7)1>=1.0 x[1,(7, 8)]<=0.0\x[1,(7, 8)]>=1.0

N_8(165)
PRUNED

N_9(165)

N_16 (17 s)
PRUNED

N_17(17s)
PRUNED

[502.6857 , 504.0000]

x[1,(1, 3)]<=0.0\x[1, (1, 3)]>=1.0

N_18 (17 s)
PRUNED

N_19 (17 s)
PRUNED

15)1>=1.0

N_15 (17 s)
PRUNED




